SECTION B— (5 x10= 50.ianks) i : 7. (@) Record the following trangactions in Stores
: ‘ Ledger, pricing the terial der FIFO
Answer ALL questions. 4 method. g materials under

(a) Discuss the different classification of Cost. Balance 50 Units at Rs. 25 per unit.

May
1
Or : i 3 Received 300 units at Rs. 30 per unit
5
7
8
10

(b) During the year 2017, Ahamed Ltd,,
produced 50,000 units of a Product. The
following were the expenses.

Issued 200 units
Issued 120 units
Received back 10 units (issued on 7t May)
Returned to vendor 15 units purchaged on

Particulars Amount 3rd May
15 Received 200 Units at Rs. 32
Stock of Raw Materials on 01.01.2017 10,000 18 Issued 150 Units
Stock of Raw Materials on 31.12.2017 © 20,000 19 Issued 50 Units
- The stock verifier found a shortage of
Purchases 1,60,000 10 Units on 20th and left a note. -
Direct Wages 75,000 Or
(b) From the following particulars write up
Direct Expenses 25,000 : Stores Ledger under Last-in-First-out:
Factory Expenses 37,500 g . .
n Dec. 1 * Stock in Hand 500 units at Rs. 20
Office Expenses 62,500 i 3 Issued 200 units .
b 3 . Purchased 150 units at Rs. 22

Selling Expenses 25,000 15
Issued 100 Units

4
5  Purchased 200 units at Rs. 25
6

Issued 300 units
i S.No. 821

You are required to prepare a Cost Sheet

showing cost per unit and Total Cost at each
Stage.

6 S.No. 821
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(a)

6 Returned to store 10 Units (Issued
on 4 Dec)

7  Issued 100 Units
8  Issued 50 Units

On 10", it was noticed that there is a
shortage of 10 Units.

From the following particulars, calculate
earnings of a worker under,

(1) Time Rate System
(ii)  Piece wage system
(iti) Halsey plan and
(iv) Rowan Plan

Wage Rate - Rs. 2 per Hour
Production per Hour - 4 Units

Re. 1 per Hour

Dearness Allowance -

Standard Time fixed - 80 hours

Actual Time taken - 50 Hours
Production - 250 Units
Or
8 S.No. 821

B

4

(b) A worker takes 80 hours to do a job for which
the time allowed 1s 100 Hours. His daily rate
is Rs. 2,50 per hour. Calculate the work cost
of the job under the following methods of
payments of wages.

(1) Time Rate (1) Piece Rate (ii1) Halsey Plan
and (iv) Rowan Plin

Additional Information

(1) Material Cost Rs. 120

(2) Factory Overhead 125% of wages

(a) Kumanan Ltd.,, has three production
departments ‘A’, ‘B’ and ‘C’ and two service
departments ‘D’ and °‘E’. The following
figures are extracted from the records of the
company.

Particulars Amount (Rs.)
Rent and Rates 5,000
Indirect wages 1,500
Depreciation of machinery 10,000
General Lighting 600
Power 1,500
Sundries 10,000

9 S.No. 821
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The following data are also available

_ B C D E
Parnculars Total A i ]
m.woow Space in 10,000 2,000 2,500 3,000 2,000 500
Sq.Ft _
H;M_mrn Points 60 10 15 20 10 5

Direct wages 10,000 3,000 2,000 3,000 1,500 500
H.P.of v

Employer’s liability of employees’

Insurance
Rs. 600

The following data are also available in respect of
the five departments:

Dept.P Dept.N Dept.R Dept.S Dept.T

. s AL S s i
o i

r_’

) ; Area Sq.ft. 140 120 110 90 40
machines 150 60 30 50 10 No. of workers 25 20 10 10 5
7 = O 5 5 )
Valueof 2,850,000 60,000 80,000 1,00,000 5,000 5,000 Total Wages Rs. 10,000 8,000 5,000 5000 2000
machinery Value of plant Rs. 20,000 18,000 16,000 10,000 6 000
, ] 7al Stock Rs. 15,000 10,00 00 2 4
Apportionment of the costs of the various . alue of Stock Rs. 15,00 0.000 5,000 2,000
departments on the most equitable basis by Apportion  the costs to the wvarious
preparing a primary departmental m departments on the equitable basis.

distribution summary. : | .
: 10. (a) Whatis Job Costing? Explain its advantages

Or , and limitations.
(b) Amit Company has five departments PN, R, | Or
S are producing departments, and T is a s .
service department. The actual costs for a , () The following information relates to
period are as follows. k Mohammea Construction Company:
Repairs Rs.2,000 Rs.
Rent Rs.2,500 oy
Depreciation Ra b0 Materials issued from stores 1,50,000
‘ Wages paid : . 2,20,000
Supervision Wm.. 1 moo,
[ ; General charges 8,000
nsurance Rs. 4,000 . ,
Light Rs. 1.500 Plant installed at site on 1st July 2017 40,000
Materials on site on 31-12-2017 8,000
10 S.No. 821 11 S.No. 821
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é the candidates admitted from 2012-2013 onwards)

" g

!

=t
e T

ﬂ?‘ M.Com. DEGREE EXAMINATION,

APRIL 2017.

Second Semester

INVESTMENT ANALYSIS AND PORTFOLIO |
MANAGEMENT

Time : Three hours Maximum : 75 marks
SECTION A — (6 x 5 =25 marks)
Answer ALL questions.

1. (a) State the need for investment.

v I"L‘..“:\'.

Or

e on capital market.

s the disadvantages of technical

Or

| Scanned by CamScanner



(a)

(b)
(a)

(b)
(a)

(b)

(a)

(b)

(a)

(b)

Write a note on company analysis.

Or

What are the features of market risk?

What is the nature of portfolio management?

Or

Write a note on Markowitz theory.
What is capital market theory?

Or

Mention the features of Bear.
SECTION B — (6 x 10 = 50 marks)
Answer ALL questions.

Write an essay on sources of investment
information.
Or

detail investment

Write in about

environment.
State and explain Dow theory.

Or

What are the tests of market efficiency?

2 S.No. 586

10.

(a)

(b)
(a)

(b)
(@)

®.

Explain types of risks.

Or

How to measure risk?
Enumerate portfolio analysis.

Or

How to select feasible set of portfolios?

Discuss the concept of CAPM with

illustration.

Or

How do you evaluate fixed income securities?

3 S.No. 586
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(6 pages)

S.No. 715

17PCMO07/17P CZ07 |

(For the candidates admitted from 2017 — 18 onwards)

M.Com./M.Com. (CA) DEGREE EXAMINATION,

NOVEMBER 2018.

Second Semester

ADVANCED BUSINESS STATISTICS

Time : Three hours

1. (a)

(b)

Maximum : 75 marks
PART A — (b x 5 =25 marks)
Answer ALL the ptmwﬁosm.
All questions carry equal marks.

In a class of 50 students, 10 have failed and
their average of marks is 2.5. The total mark
secured by the entire class is 281. Find the

average mark of those who have passed.

Or

What is the importance of measures of

dispersion?

|
|
|
|

(b)

(a)

(b)

(@)

One card is drawn from a standard pack of
52. What is the probability that it is either a
King or a Queen?

Or

In a binomial distribution consisting of 5
independent trials. Probabilities of 1 and 2
successes are 0.4096 and 0.2048 respectively.
Find the parameter p of the distribution.

In a sample 500 people from a village 1n
Rajasthan, 280 are found to be rice eaters
and the rest wheat eaters. Can we assume
that both' the food articles are equally
popular?

Or

In a sample of 500 people from a village in
Rajasthan, 280 are found to be rice eaters
and the rest wheat eaters. Can we assume
that both the food articles are equally
popular?

In a sample of 1000 the mean is 1.5 and the
s.d. 2.5. In another sample of 800 the mean
is 18 and s.d. 2.7. Assuming that the samples
are independent' discuss whether the two
samples can have come from population
which have the same s.d.

Or
2 S.No. 715

-~
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(1)
HE (a)
(b)
. (n)
(b)

Out of 20,000 customers ledger account a
r:::,_.. of GOO was taken to test the accuracy
of posting and balancing and 456 mistakes
were found. Assign hmits which the number
of mistake can be expected at 95% level of
confidence.

re = 0.86,n, =065 and r,

, = 0.72, find the

partial correlation coefficient r, ,.

Or

What are the different types of Factor
Ananlysia?

PART B — (5 = 10 = 50 marks)
Answer ALL the questions.
All questions carry equal marks.

Describe absolute measures of dispersion
and relative measures of dispersion, Discuss
their merits and demerits.

Or

The following data were obtained while
observing the life span of a few neon Lights of
a company. Calculate standard deviation.

Life Span (years) 4-6 6-8 8-10 10-12 12-14

No. of Neon lights 10 17 32 21 20

3 S.No. 715

~1

(b)

(h)

»

A bag contaims 5 white and 3 black balls
Two balls are drawn at random one after the
other  without
probability that both balls drawn are black

replacement, Find o the

Or

I3

I'he following data show the number of seeds
gernnatmg out of 10 on damp filter for
B0 set of seeds, 19t o binomial distribution to
thas data.

0 1 2 3 456 6 7 8 9 10

G 20 28 12 8 6 0 0 0 0 0
Explain the various steps imvolved in the
testing the hypothesis,

Or

I'wo types of drugs were used on 6 and 7
patients for reducing their weight. Drug A
was mported and drug B andigenous. The

decrease in the weight after using the drugs

for s1x months was as follows :

DrugA: 10 12 13 11 14
DrugB: 8 9 12 14 156 10 9

In there a significant difference in the
efficacy of the two drugs? If not, which drug
should you buy? (For v =10,1,,, = 2.223) .

1 S.No. 715
(P.T.0.]
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(

a)

(b)

Two random samples were drawn from two

normal populations and their values are :
67 75 76 82 84 88 90 92

66 74 78 82 856 87 92 93 95 97

Test whether the two populations have the
same variance at the 5% level of significance.

(F =3.36) at 5% level for v, =10 and v, =8.

Or

In an anti malarial campaign in a certain
area, quinine was administered to 812
persons out of a total population of 3,248.

The number of fever cases is shown below :

Treatment Fever No fever Total
Quinine 20 792 812

No quinine 220 2,216 2,436
Total 240 3,008 3,248

Discuss the usefulness of quinine in checking

malaria.

S.No. 715

a

10.

(a)

()

Calculate (i) R, ., (i) Ry, and (i) R, ,; for
the following data : 1, =0.6, 1, =0.7 and
vy = 0.65.

Or

Given the following, determine the
regression equation of x;, on x, and x;

n, =08 1ny=006 ryy =0.5

o, =10 o, =8 03=95

6 S.No. 715

W
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(6 pages)
S.No. 786

(For the candidates admitted from 2017 — 2018 obiﬁ.mmv

M.Com./ M.Com. (CA) DEGREE EXAMINATION,
APRIL/MAY 2018.

Second Semester
ADVANCED BUSINESS STATISTICS

Time : Three hours Maximum : 75 marks

PART A — (5 x 5 = 25 marks)
Answer ALL the questions
All question carry equal marks

1. (a) A computer programmer entered the ma
in Statistics of 1000 students and calcu
the mean mark to be 72. While nrmo_&bm

entries, it was found that two marks wc
20 were wrongly entered as 80 and 90,

the correct mean mark in statistics.

Or

(b) State the characteristics of a good Bmmmf
of dispersion.

(a)

(b)

(a)

(b)

()

(b)

A problem in statistics is given to five
students A, B, C, D. and E. Their chances of
solving it are %, 1/3, %, 1/5 and 1/6. What is

the probability that the problem will be
solved?

Or

A coin is tossed six times. What is the
probability of obtaining four or more heads?

Mention the general procedure for testing
the hypotheses.

Or

500 apples are taken at random from a large
basket and 50 are found to be bad. Estimate
the vuovoawopmb». bad apples in the basket
and assign h within which the
percentage mos M,_._.vwovmzw. lies.

S.No. 7
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o

(@ 1If 1r,=0971,=075, and 1,y =0.7, find
Ry g
Or
(b) Mention the various uses of Factor Analysis.
PARTB— (B x10= mo. marks)
Answer ALL the questions.

All question carry equal marks.

(a) . Calculate Mean, gm&m: and Mode form the

following frequency distribution.
Variable : 10-13 13-16 16-19 19-22 22-25
Frequency: 8 15 27 51 75
Variable :  25-28 28-31 31-34 34-37 37-40
Frequency: 54 36 18 9 7

Or

(b) Find the Arithmetic Mean and Standard

‘Deviation.
Class Interval 0-10 10-20 20-30 30-40 40-50
Frequency 2 5 9 3 1

3 S.No. 786

7. (a)

8. (a)

Find the probability of drawing a queen, a
king and a knave in that order from a pack
of cards in three consecutive draws, the

cards drawn not being replaced.
Or

(b) The following mistakes per page were
observed in a book :

No. of mistakes per page g -0 2

3 4
No. of times the mistake occurred 211 90 19 5 0

Fit a Poisson distribution to the given data.

Intelligence test on two groups of boys and

girls gave the following results :

Mean S.D. N
Girls s 15 150
Boys 70 20 250

Is there a significant difference in the mean scores

obtained by boys and girls?

Or

4 S.No. 786
[PT.0]
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(b) The life time of electric bulbs for a random
sample of 10 from a large consignment gave
the following data:

lItem 1 2 3456 78 910
Life (in ‘000 hours) 4.2 4.6 3.94.15.23.83.94.34.45.6

Can we accept the hypothesis that the average life
time of bulbs is 4,000 hours?

9. (@) Two samples are drawn from two normal
population. From the following data test
whether the two samples have the same

variance at 5% level :

Sample1 60 65 71 74 76 82 85 87
Sample 2 61 66 67 85 78 63 85 86 88 91

Or
(b) 1,000 students at college level are graded

according to their 1.Q. and their economic
conditions. Use chi-square test to find out
whether there is any association between

economic conditions and the level of 1.Q.

Economic Conditions 1.Q. Total
High Medium Low
Rich 160 300 140 600
Poor 140 100 160 400

300 400 300 1,000
5 S.No. 786

Total .

10.

(a)

(b)

If r,=08,1,,=04and r, =0.56,find the

value of r, 5, ny.and ry .

Or

Given the following, determine the
regression equation of x, on x,and x,.

Jw ”o.m- wa = O.m ﬂomm ”o.m

0,=10 0,=8 o03;=58

6 S.No. 786
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S.No. 722

17PCM10/
17PCZ09

(For the candidates admitted from 2017-2018 onwards)

M.Com./M.Com.(CA) DEGREE EXAMINATION,

NOVEMBER 2018.

» Third Semester

ADVANCED CORPORATE ACCOUNTING

Time : Three hours

(b)

Maximum : 75 marks
PART A — (5 x 5 = 25 marks)
Answer ALL questions.

Kailash Ltd. purchased the business of Mani
Bros. for Rs. 54,00,000 repayable in fully
paid shares of Rs. 100 each. What entries
will be made in the books of Kailash Ltd., if
such issue is (i) at par (il) at a premium of
20% and (iii) at a discount of 10%?

Or

Timex Ltd., issue 1,000 8% debentures of
Rs. 100 each. Give appropriate journal
entries in the books of the company. If the
debentures were issued as follows.

.
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(1)
(1)

(111)

(iv)

Issued at par Redeemable at par.

Issued at discount of 5% Repayable at
par.

Issued at a premium of 10% repayable
at par.

Issued at par Redeemable at a
premium of 10%.

(a) What is meant by an interim dividend?

(b) Determine the

Or

maximum remuneration

payable to the part time Directors and
Manager of Bharat Ltd. (a manufacturing
company) under Section 309 and 387 of the
companies act 1956 from the following
particulars:

Before charging any such remuneration, the
profit and loss account should a credit
balance of Rs. 23,05,000 for the year ended
31st March 1999 after taking into account the
following matters —

®

(i1)

(i)
(iv)

Profit on sale of investment

Rs. 2,05,000.

Subsidy received from Government
Rs. 4,10,000.

Loss on sale of fixed assets Rs. 65,000.

Ex-gratia to an employee Rs. 30,000.
2 S.No. 722

.w. (a)

S —
g T —
i -

r—

v)

(vi)

(vii)

Compensation paid to injured workmen
Rs. 75,000.

Provision for taxation Rs. 2,79,000.

Bonus to foreign technicians

Rs. 3,12,000.

(viii) Multiple shift allowance Rs. 1,00,000.

(ix)
(x)

Special depreciation Rs. 75,000.
Capital expenditure Rs. 5,10,000.

Company is providing depreciation as per
Sec. 350 of the Companies Act 1956.

" Following is the balance sheet of Samy Ltd.
as an 31.3.2016.
Liabilities Rs. Assets Rs.
Share capital: Fixed Assets 16,25,000
8% Preference 3,75,000 Investments 3,00,000
shares of Rs. 100
each
Equity Shares of 7,50,000 Current 2,50,000
Rs. 10 each Assets
General Reserve 4,50,000
7% Debenture 3,560,000
Current 2,50,000
Liabilities
‘ 21,75,000 21,75,000
3 S.No. 722
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(b)

Rony Ltd. agreed to takeover the business of
Samy Ltd. Calculate purchase consideration
under Net Assets method on the basis of the
following.

(i) Rony Ltd. agreed to discharge 7%
Debentures at a premium of 10% by
issuing 9% Debentures of Rony Ltd.

(ii) Fixed assets are to be valued at 10%
above book value, the investment at
par, current assets at 10% discount and
current liabilities at book value. 4

Or !

‘X’ Co. Ltd. has the following shares as a part

of its share capital 10,000 8% preference

shares of Rs. 100 each fully paid.
50,000 equity shares of Rs. 5 each fully paid.

20,000 equity shares of Rs. 10 each, Rs. 8

called up and paid up.
The Company has decided to alter the share
capital as follows:

(i) To sub-divide the preference shares
into shares of Rs. 10 each.

(i) To consolidate the equity shares of
Rs. 5 each into shares of Rs. 10 each.

(iii) To convert the partly paid up equity
shared into fully paid up shares of Rs. 8
each. With necessary legal sanctions.

Journalise the alternations.
4

4. (a)

T AR

ST

ok

(b)

The following particular relate to a limited
company which has gone into voluntary
liquidation. You are required to prepare the
liquidator’s final account, allowing for his
remuneration @ 2% on the amount realised
and 2% on the amount distributed among
unsecured creditors other than preferential
creditors :

Preferential CreditorsRs. 10,000
Debentures Rs. 10,000
CSmmosnmm_me&nowm Rs. 32,000

The assets realised the mozos:.bm sums:
Land and Building Rs. 20,000
Fixtures and mgwbmm Rs. 1,000

Plant and Machinery Rs. 18,650

expenses amount to

The —Eimmﬁob
Rs. 1,000.

Or

How would you ascertain the amount of
Minority interest?

On 31t March 2015, Bharat Commercial

Bank Ltd. finds its advanced classified as

followed:

Standard assets Rs. E.&M‘wao
Rs. mm.gc
S.No. 722

mzv.mﬁm.nama assets
5
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(b)

Doubtful assets (secured)

Doubtful for one year Rs. 25,660
Doubtful for one year to
3 years Rs. 15,640
Doubtful for more than
3 years Rs. 6,580
Loss assets Rs. 10,350

Calculate the amount of provision to be made
by the book against the above mentioned
advances.

Or

The Life fund of a Life Insurance Company
on 31.3.2015 showed a balance of
Rs. 54,00,000. However, the following items
were not taken into account while preparing

the Revenue a/c for 2014-15. Ascertain the

correct life fund balance.

(i) Interest and dividends acc
investment Rs. 20,000.

(i) Income tax deducted at source ‘on
above Rs. 6,000. ‘

(ii1) Reinsurance claims
Rs. 7,000.

(iv) Commission due on reinsurance
premium paid Rs. 10,000.

(v) Bonus in reduction of premiums
Rs. 3,000.

6 S.No. 722

PART B — (5 x 10 = 50 marks)

Answer ALL questions.

6. (a) A Ltd. invited applications for 10,000 shares
of Rs. 100 each at a discount of 5% payable

as follows:

On application Rs. 25

On allotment Rs. 34

On first and final call Rs. 36

Applications were received for 9,000 shares
and all of these were accepted. All moneys
due were received except the first and final
call on 100 shares which were forfeited. Of
the forfeited shares, 50 shares were reissued
at the rate of Rs. 90 as fully paid. Show
necessary journal entries with books of the
company.

Or

(b) On 30t June 2012, the balance sheet of
Sandhya Ltd. stood as follows.

Liabilities Rs. Assets Rs.
Equity Share 10,00,000 Sundry 14,00,000
capital Assets
Redeemable Pref. 4,00,000 Bank 5,00,000
Share capital
P and L alc 3,00,000
Sundry Creditors 2,00,000

19,00,000. 19,00,000

7 S.No. 722
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(a)

Opening stock
Purchases

Wages
Insurance (upto

31.3.14)
Salaries

On the above date, the preference shares had
to be redeemed. For this purpose,
2,000 equity shares of Rs. 100 each were
issued at Rs. 110. The company also issued
8% Debentures totaling Rs. 3,00,000. The
shares and debentures were immediately
subscribed and paid for. The preference
shares were duly redeemed. Give journal
entries and the Dbalance sheet after
redemption.

Star Ltd. i1s'a company with an authorised
capital of Rs. 5,00,000 divided into
5,000 equity shares of Rs. 100 each on
31.12.2013 of which 2,500 shares were fully
called up. The following are the balances
extracted from the ledgers on 31.12.2013.

Trial Balance of Star Ltd.
Rs. Credit Rs.
50,000 Sales 3,25,000
2,00,000 Discount 3,150
received
70,000 Profit and loss 6,220
alc
Discount allowed 4,200 Creditors 35,200
6,720 Reserves 25,000
18,500 Loan from 15,700
managing
director A
6,000 Share capital  2,50,000

.

8 S.No. 722

Debit Rs. Credit Rs.
General expenses 8,950

~ Printing 2,400
Advertisement 3,800
Bonus 10,500
Debtors 38,700
Plant 1,80,500
Furniture 17,100

. Bank 34,700

. Bad debts 3,200

. Calls-in-arrears 5,000

: 6,60,270 6,60,270

You are required to prepare profit and loss
account for the year ended 31.12.2013 and a
balance sheet as on that data. The following
further information is given:

@)

(1)

(111)

(iv)

Closing stock was valued at

Rs. 1,91,500.

Depreciation on plant at 15% and on
furniture at 10% should be provided.

A tax provision of Rs. 8,000 is
considered necessary.

The directors declared an - interim
dividend on 15.8.13 for 6 months

ending June 30, 2013 @ 6%.

Or

9 S.No. 722
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(b) From the following balances as on 31st Dgc
2014 of a Limited Company. Prepare profit
and loss a/c for the year ended and balance
sheet as on that date.

(iii) Provide 10% for bad and doubtful
debts.

(iv) Customer’s deposit has been forfeited.

Debits Rs. Credits Rs. (v) Proposed dividend at 10%.

St 1. ; . L .
ock 1.1.2014 33,380 m:.dmnbwmm .m.:m 50,000 (vi) Provision for taxation Rs. 7,500.
paid up capital . :
Discounts 6,788 Sales 1.46.268 (vii) The Managing Director is entitled to
’ b ] ) . .
Land 22,000 Sundry receipts 200 10% commission on E.wo. profits before
. charging such commission.
Emzn.mbm 10,700 Creditors 39,5632 L
machinery ~ 8. (a) Following is the Balance Sheet of K Ltd. as
Purchases 91,888 Provision for bad 5,300 : on31.12.2015. .
debts Liabilities Rs. Assets Rs.

Furniture 2,750 Discounts (Cr) 5,904 n 2,000 shares .cm Rs. 10 20,000 Goodwill 4,000
Debt . each fully paid

SRiuzs 63,600  Bank overdrafy 13,823 Profit and loss a/c 7,000 Fixed 16,500
P and L a/c 4,960 Customer’s 400 i asgets
(Dr.) deposits : . Debentures 10,000 Current 19,500
Carriage 3,780 4 assets
Wages 9,016 . ' Creditors __3,000_ -
Bad debts 1,820 | . 40,000 40,000
Office 10,275 R Limited agreed to take over the assets of
expenses K Ltd. (exclusive of one fixed assets of
Cash on hand 470 Rs. 4,000 and cash Rs. 1,000 included in

current assets) at 10% more than the book
values. It agreed to take over creditors also.
The Purchase price was to be discharged by
the issue of 2,000 shares of Rs. 10 each at the
market value of Rs. 15 each and the balance

in cash.

The following adjustments have to be made:
(i) Stock on 31.12.2014 Rs. 35,460.

(ii)) Depreciation on plant and mac
at 10% and furniture at 6%.

11 S.No. 722

10 S.No. 722
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(b)

9. (a)

Liabihities

Equity share
capital

General
reserve
Profit and
loss alc

Creditors

Liquidation expenses came to Rs. 400.

K Ltd. sold the fixed assets of Rs. 4,000 and

realised the book value. It paid off its

debentures and liquidation expenses.

You are required to give journal entries in

the books of K Ltd.
Or

What is purchase consideration? Explain
various method of its calculation.

On 31st March, 2016 the balance sheets of H
Ltd. mma its subsidiary S Ltd. stood as
follows: .

H Ltd SLtd Assets H Lid S Ltd
Rs. Rs. Rs. Rs.
8,00,000 2,00,000 Fixed assets 5,50,000 1,00,000

1,50,000 70,000 75% sharesinS 2,80,000 —
Ltd. (at cost)

90,000 55,000 Stock 1,05,000 1,77,000

1,20,000 80,000 Other current 2,25,000 1,28,000

assets

11,60,000 4,05,000 11,60,000 4,05,000

Draw a consolidated Balance mrwmﬁ as at
31t March, 2016 after em_a:._m into
consideration the following information:

(i) H Ltd. acquired the shares on 31st July,
2015.

12 S.No. 722

e ————— ————T— T ST

(b)

(i) S Ltd. earned profit of Rs. 45,000 for
the year ended 31%t March, 2016.

(iii) In Jan 2016 S Ltd. sold to H Ltd. goods
costing Rs. 15,000 for Rs. 20,000. On
31st March 2016 half of these goods
were lying as unsold in the godown of
H Ltd. Give your working notes.

Or

The following information is extracted from
the books of a Drum Company on June 30,
2012 on which date a winding up order was

made:
. Rs.

Equity Share capital 80,000 shares of Rs. 8,00,000
10 each
10% Preference share capital 12,000 shares 12,00,000
of Rs. 100 each
Calls in arrears on equity shares 16,000
(estimated to produce Rs. 8,000)
9% First mortage Debentures, secured by a 8,00,000
floating charge on the whole of the assets
of the Company
Creditors fully secured (value of shares in 1,40,000
X Ltd. Rs. 1,60,000)
Creditors partly secured (value of shares in 1,60,000
Y Ltd. 80,000)
Preferential creditors 30,000
Bank overdraft, secured by a second charge 80,000

on the whole of the assets of the company

13

S.No. 722
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Unsecured creditors 10,40,000 Rs. R
Estimate liability on bill discounted Nuﬂo,ooo (in CM,
Cash in hand 000) .
8,100 Rebate in bill 200
Book debts — Good 150,000 ebate in bills Interest on over
Dok . ,0U, discounted 50 drafts 56
oubtful (estimated to 30,000 | Commission in Director’s and
produce 40%) . charged to Customers 9 auditor’s fees 4
| — Bad Debts 18,000 Establishment Interest on
Stock in trade (estimated to produce 2,88,000 1 expenses 56 savings bank
Rs. N.wm.ﬂOOv accounts 70
Freehold land and Buildings (estimated to  6,60,000 Discount on bills Postage and
produce Rs. 7,82,000) | discounted 200 telegrams 2
Plant and machinery (estimated to produce 3,00,000 | Interest on current Sundry charges 2
Rs. 2,12,00) | accounts 45
Fixtures and fitti ] _ wzbﬁb.m pod
X wo.ooowu ings (estimated to produce 50,000 | Advertisements 3
". Or

Prepare a statement of affairs. W
(i) Asregards creditors and w (b) Give a proforma of a Revenue a/c for Life
: Insurance Company.

(11) As regards contributories.

From the following particulars, prepare a
profit and loss a/c of New Bank Ltd. for the
year ended 31.12.2010.

10. (a)

Rs. Rs.
(in (in
‘000) ‘000)
Interest on loans 260 Interest on cash
credits 225
Interest on fixed Rent and taxes 20
deposits 280
14 S.No. 722 15 S.No. 722
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S.No. 724 . 17PCM12
17PCZ10

(For the candidates admitted from 20 17-2018 onwards)

M.Com./M.Com. (CA) DEGREE EXAMINATION,
NOVEMBER 2018.

Third Semester
INCOME TAX AND TAX PLANNING
Time : Three hours Maximum : 75 marks
SECTIONA — (5 x5=25 marks)

Answer ALL questions.

1. (a) Define the following :

Previous year and Assessment year.

Or

‘(b) A doctor who is an Indian citizen left India to
France on 6th July 2017, to take up an
employment there. He has never been out of
India in the past.

Determine his residential status for the A.Y.
2018-19.
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9. (a) Samuvel, who resides in  Chennai, ge

Rs. 3,00,000 p.a. as basic salary. He receiveq
Rs. 50,000 p.a. as HRA. Rend paid by hin, iq
Rs. 40,000 p.a. Find out the amount of
taxable HRA for the A.Y. 2018-19.

Or

Receipts
To Presents from
clients
To Loan from bank
for professional
purpose

Rs. Payments Rs.
By Interest on

8,000 loan 2,000
By Car expenses 5,000
By Income tax 2,000

15,000 By Life

(b) Compute the Net Annual Value of the House
property from the given details :

Rs.

MRV 1,40,000
FRV . 1,45,000
Standard rent 1,42,000
Annual rent if property is

let out throughout the year 1,68,000
Unrealised rent 14,000
Loss due to vacancy 7,000
Municipal taxes 10,000

3. (@) The following is the Receipts and Payment

account of Mr. Prathap an advocate for the
year ended 31st March 2018.
Receipts Rs.

To Balance b/d

To Fees from client :

Payments Rs.
2,400By Typewriter 8,000

. By Office
ws 2016-17 30,000  expenses 6,000
WOH 2017-18 3,000 By Salaries to :
or 2018-19 10,000  staff 10,000
2 - S.No. 724

68,400

insurance

premium 4,000
By Rent for the

chamber 6,000
By Balancec/d 25,400

68,400

Depreciation of the car is Rs. 5,000. The car
was used for 60% official and 40% private
income from

purposes. Compute

profession.

Or

(b) Compute the capital gain for the A.Y.

2018-19:
Date of purchase of house
Cost of acquisition
FMV as on 1.4.2001

Advance money received and
forfeited during 2016-17

Sold the property in 2017-18
CII for 2017-18

May 1977
Rs. 1,80,000
Rs. 2,00,000
Rs. 1,20,000
Rs. 1,40,00,000
272.

3 S.No. 724

Scanned by CamScanner



4.

Compute income from other sources of Raja

(a)
for the A.Y. 2018-19:
Rs.
Directors fees 5 20,000
- Interest from bank 6,000
Income from undisclosed sources 24,000
Dividend on shares (Gross) 12,800
Ground rent 600
Royalty from books 9,000
Interest on Post Office Savings Bank 1,500
Or :
(b) Compute the Taxable income of Mr. Mohan

for the AY. 2018-19 for the relevant
information given below :

Rs.

Salary income (computed) . 80,000
Business income : (=) 60,000
House property income Nwo,ooo
(computed) ) .

Capital gains :

Short term capital gains 10,000 |
Long term capital loss ) Hm.ooo. .

4 ~ S.No. 724
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T

5. (@) Who are Income tax authorities?

Or .
() Compute the tax liability of Mr. Sen (55
years) from the given details :

Rs.
Income from salary (computed) 3,00,000
Income from house property 74,000
Income from other sources 1,50,000
Donation to NDF 8,000

SECTION B — (5 x 10 = 50 marks)
Answer ALL questions.

6. (a) Describe any ten exempted incomes.

‘Or B
(b) From the following details calculate the total
income of Mr. Ravi if he is
(i) ordinary resident
(ii) not ordinarily resident and
(iii) non-resident.

. Rs.
Dividend from Indian company 1,00,000
Dividend from foreign company received in
1,50,000

India | v

Past untaxed income brought into India
during this P/Y 42,000
Income from business in Kenya but
controlled from India 2,00,000

5 S.No. 724
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(a)

From the following particulars  of

Mr. Ramesh, compute his salary income.
Salary — Rs. 15,000 p.m.
DA —Rs. 1,500 p.m.

Education allowance — Rs. 500 p.m.
(He has one child)

CCA —Rs. 300 p.m.

EA — Rs. 200 p.m.

HRA — Rs. 2,000 p.m.

(Rent paid for house Rs. 2,500 p.m.)

Professional tax
Rs. 1,000

paid by employer -—

LIC premium paid by employer — Rs. 2,000
(for Ramesh’s life)

Compensation  received  from

employer for termination of services -

Rs. 10,000

Medical expenses of Ramesh reimbursed
from the employer — Rs. 5,000.

Or

6 S.No. 724

——

former

£~ &

8.

To

To

To
To

(b) Find out the house property income for the

AY.2018-19:
Rs.

MRV 1,30,000 p.a.
FRV 1,10,000 p.a.
Standard rent 1,35,000 p.a.
Rent received 11,000 p.m.
Unrealised rent for 2017-18 11,000
Municipal taxes paid :

Owners 10,000 p.a.
Tenant 5,000 p.a.

(a) Compute income from  business of

Mr. Kesavan, from the following P and L a/c :
Rs. Rs.

General By Gross profit 1,40,000

expenses 10,000 By Bad debts

Fire insurance recovered

premium (disallowed

(50% for HP) 8,000 earlier) 10,000

mm_w:.% 30,000 By Intereston

Advertisement government

(cash) 25,000 gecurities 5,000
gl S.No. 724
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To
To
To
To
To
To

To

Rs. ; Rs.

Salary to . By Rent from .
proprietor 20,000 house
Interest on property 10,000
capital _ 5,000 By Long term
Income tax 10,000 capital gain 10,000
Sales tax 5,000
Donation 10,000
Motor car
expenses 2,000
Net profit E

| 1,75,000 1,75,000

(b)
(@)

General expenses include Rs. 1,000 for
drawings. Car was used 50% for business
purpose.

Or
List out the exempted capital gains.

From the given particulars of Mr. Akilan,
compute the income from other sources :

() Rs. 31,840, 10% tax free mo<musn..6=n
securities.

(i) Rs. 6,286 received as interest on tax
free Public Ltd. Co., securities (listed).

8 . S.No. 724

(i) Rs. 3,592 received as
Deepak fertiliser (listed).

(iv) Dividend received Rs.
Indian company.

(v) Amount received from
lottery prize Rs. 34,700.

Interest on

10,000 from

Karnataka

(vi) Director fees received Rs. 4,000.

(vii) Royalty income by writing books
Rs. 40,000 (expenses claimed and

allowed Rs. 4,000)

(viii) Family pension received Rs. 36,000.

Or

(b) From the following information of a trader,

compute the gross total income.

Income from house property (computed)
Business loss

Current year depreciation

Business loss of E.mom&mm year
Unabsorbed depreciation of preceding year
Short term capital loss

Long term capital gain

Rs.
1,50,000
60,000
10,000
50,000
30,000
40,000
50,000

S.No. 724
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10.

(a)

Calculate the amount deductible U/S 80 G :

Rs.
Gross total income 3,00,000
Deductions U/S 80 C to 80 U (except
Sec. 80 G) 50,000
Donation :
To PM National Relief Fund 30,000
To Allahabad University — National
Eminence 20,000
To Technology Development and
Application Fund 10,000
To PM’s Drought Relief Fund 10,000
To Charitable Society 10,000
To Family Planning 15,000
To Sports Association 20,000
Or
(b) Mrs. Laxmi aged 50 years submits the
following information :
Rs.
Taxable salary 12,00,000
Interest on bank deposits 20,000
Long term capital gain 40,800
Taxable house property income 1,80,000
Deposit in PPF 60,000
LIC premium 1,20,000

Compute the tax liability of Mrs. Laxmi.

10 S.No. 724
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S.No. 726

17PCME0
17PCZE06

(For the candidates admitted from 2017 — 2018 onwards)

M Com /M .Com (CA) DEGREE EXAMINATION,

NOVEMBER 2018.

Third Semester
RETAIL MARKETING
Time Three hours Maximum 75 marks

| (a)

(b)

(3

(a)

(b)

PART A — (5 x 5 = 25 marks)
Answer ALL questions.

Define “Retailing” and state the concept of
retailing.

Or

What are the features of retailing”

State the macro environment of retailing.
Or

Write a note on “Compulsive drying”.
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(a)

(®)

(a)

(b)
(a)

(b)

(a)

(b)

Write a note on “Vending machines”. 7. (a)
Or
What are the different types of retail , . ®)
franchising? ,
. | 8 (2
Give the meaning of over price and under
price. .
OH @v
Write a note on “Odd pricing”.
Define the terms public relations and @
publicity.
Or
(b)
What are the tools used for sales promotion
by retailer?
— ’ (a)
PART B — (5 x 10 = 50 marks)
Answer ALL questions.
(b)

Extrapolate the feature scenario of retailing.

Or

Explain the present scenario of retailing.

2 S.No.726 |

Discuss about the consumer decision process.

Or
Describe the environmental influences of

retail marketing.

Explain the retail formal classifications on
the basis of ownership.

Or
Explain briefly the various non-star based

retail formates.

Define price. What are the different factors
that influence a retaitar’s pricing decision.

Or

Explain the different pricing techniques that
may be used by a retailer adopling a demand
oriented pricing approach.

Does the future appear bright for E-Tailing
global? Explain.

Or

Explain the impact of IT on the modern
retail business.

3 S.No. 726
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S.No. 817 12PCM15

(For the candidates admitted from 2012 — 2013 onwards)

M.Com. DEGREE EXAMINATION, APRIL/MAY 2018.

Time : Three hours

1. (a)

(b)

2. (a)

(b)

Fourth Semester

SERVICES MARKETING

Maximum : 75 marks

PART A — (5 x 5 = 25 marks)
Answer ALL questions.
All questions carry equal marks.

What are the salient features of marketing
services?

Or

Explain the limitations of marketing of
services.

What do you Ewmb by Financial Services?
Explain the scope of financial services.

Or
Explain the various stages of venture capital
financing.
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(a) -

(b)

(a)

(b)

(a)

(b)

(a)

(b)

What are the merits of Road Transport
marketing?

Or

Write a short note on the marketing mix of
air transport services.

Define tourism marketing. What are the
concepts of tourism marketing.

Or

Explain the different types of users of the
tourism services.

State the importance of Tele Communication
service marketing.

Or

What are the users for courier service
marketing?

PART B — (5 x 10 = 50 marks)
Answer ALL the questions.
All questions carry equal marks.

What is service marketing mix? Explain the
elements of services marketing mix.

Or

Discuss the emerging key services in services
marketing.

) ]
2 S.No. 817

10.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Explain the services of Merchant Bankers.

Or

Define Leasing. Explain the various contents
of a lease agreement.

What is meant by Water transport? Explain
its features.

Or

Explain in detail product planning and
development of transport marketing.

Explain the marketing mix elements for the
tourism services.

Or

What are the process of product and
planning in Tourism marketing?

Explain the marketing mix elements for the
Tele Communication services.

Or

What are the various conceptual frame work
for courier service marketing?

3 S.No. 817
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16.

18.

19.

(b) What 1s press report? What are its
objectives?

Lgdfsems Sidléms o erenen? T
CprésmseT wreneu?

PART C — (3 x 10 = 30 marks)

Answer any THREE questions.
How can you make communication more effective?
s  @grfeu  SApps wpepuiles  eTeuaum
Cun@srareumi?

Since your supplier has failed to deliver the goods
in time, write a letter of cancellation of order.

@Rl L sroghd  GuTLa GUPERISTENLOWITED,
Brisar igyilu spemeanrenul 158 CELs.

Draft a circular letter to inform the opening of a
new sales office.

@@ uHu edlpuener SQIeED CSTRIESD NS85
Gsfelés SHDOIGME &g HLD GEND CUDTE.

Draft an application for an agency.
(PEMDESE Seara 19&@ELD S BLD CUDTE.
Explain the different classification of reports.

2iPéenaullen Lo Coupl euanss 1L (HSSISPD efeurl.

S

4 S.No. 1379

S.No. 1379 120CM02

(For the candidates admitted from 20 12—2013 onwards)

B.Com. DEGREE EXAMINATION, NOVEMBER 2018.

First Semester

BUSINESS COMMUNICATION

Time : Three hours Maximum : 75 marks

PART A — (10 x 2= 20 marks)

L I Answer % .«.Ebhhwgu,

1. What do you mean .ww.‘waacénmﬁosw

paeuD gy ETEIMITED wraaaa

3

9. What is semantic barrier”

QerpQummeT SenL_ ﬂ!@ oo GTemen ?
3. What is solicited letter of enquiry”?

Couen g & Cal_ @D %mi T Sy HD CTEDITED Grenen?
4.  What is cancellation Q_w an order?

i . .
DTN TSI Dm&& S ey eremen?

4
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9.

10

What is Adjustment letter?

Gl

S wWimgy?

gL @ B SDeen

n

What is status enquiry?

Ca s | )
== &) Elon .
EEE Bene e

e T DI eTenen?

Who is an agent?

ApFeUT eTemUIT WmT?

What are banking correspondence?

cuikdlE sn grsd aeanJemey wreneu?

What 1s market report?

Fhens SfEens eranug wng?

What is minutes? |

Faipss) (300 arennnd ereen?
PART B — (5 x 5 = 25 marks)

Answer ALL questions.

(a) Write short notes on (i) Salutation

(11) Enclosure.

Ay GoHuy  wars (1) e@ewé&s  pED

(11) .@ggﬂn_i&g.
. Or
(b) State the kinds of business letter.

cueflad Gl HHH auanssenen CINTEICES

2 S.No. 1379

12

13.

14.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

What are the contents of a good order letter?
Appe B@aE Sl sEHE LGS ST Lima?

Or
Give a brief note on drafting enquiry letter.
MemAoy susd epsse uod o @GOy
UMD E.

What are the situations were a complaint
letter is to be made?

LaEnTagsWb oT(ps CeauamTig W ShSTUM&ET WITeme?
Or

What are the objectives of a circular letter?

&hpMEmss sy ssHan CrrEsmhae™ wmena?

Write a letter to a bank manager, for getting
a letter of credit, for your export business.

eang  agppwd  Gsrhlding CemeuliBib
sL@pé sgsbd Ceauamg subdl CoarerméE
&iq HLD REND) GT(LDGIG.

Or
Give the essential features of agency letter.
ML Sy sGSle (L& Sevreniosamen m@a..

What are the characteristics of a good
report?

Spps nDlGensuden a6 wirenal?

Or
3 S.No. 1379
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18.

19.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.
Write notes on the followings:
(a) Three bodies
(b) Five imitations.
Epssam_cuperp GHluy awes.

() ppepaUIdSs &L Q8T

(%) gpfe saapop.

Explain the ten stages of mind.

wefigafien usg Ly Hlowsmar chlaréss.

Give an account on philosophy of life and
neutralization of anger.

wnpsmsdean gpgel wigw fHew gdiged Lpd
ROy pms. |
Give the simple steps to be followed to eradicate
your worries.

LusEheLL swawsme GPULEDE s g és
Govermgu aeflu wfamar claé@s.

Write a detailed account about love and
compassion.

somy wips somany upu cBaascen)enu
(G BaL

4 S.No. 2024

S.No. 2024 12UVE01/17UVE01

(For the candidates admitted from 2012-2013 onwards)
U.G. DEGREE EXAMINATION, NOVEMBER 2018.
First Semester
VALUE EDUCATION (MANAVALAKKALAI YOGA)
Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)

Answer ALL the questions.

1.  Write the position of benefits of padmasana and
Vajrasana.
ugwnsand whHge wrrTgenslia fleowad wopw
UWENSenar 6T (g e

3 List out the excercise practiced in manavalakkala
yoga.
D@ cuaasareuIes LS _‘E&;Lr:.m{.Z, B U dnd e
awhlensu(pge

3.  Define mental frequency.

T WS 6 e TSGR
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10.

11.

Write a note on spiritual value.

enbs wdiy upid Aoy TFWeHs.

What is the purpose of life?

ampeilen CHT&sL sTaran?

What 1s the significance of thought analysis?
gamad Jrrusdear walussaid rarar?
What are the ways to get blessings from others?
QOofiLb Qmbs w&flswer QuyL afsar wrenau?
Write a note on world peace.

2 o5 @wdu updl @AY TWas.

What is meant by mind?

DEMD TS TEaT?

What is unified force?

ehidaans RHOS TIDTD aTen?

(a)

(b)

PART B — (5 x 5 = 25 marks)

Answer ALL the questions.
Give the advantages of two stages of
maharasana excercise.
varsar  udgfSe  Qraw( Seoasaia
UL TEDTE SBS

Or

Write a note on suriya namaskar and
relaxation
Qm.r. !bﬂh-’n LHDL 2L FJENSHSD
| Ul H-U TRSS

13.

14.

15.

(a)

(d)

(@

(®)

(@)

(®)

(a)

(®)

How do you maimtain your youthfulness?
2 RiSEHeL W . Qeaovew
ugrofdSrser.

Explain the i married life and chasity.

B8 1o S0 SEuarsSog PEE-
BE ST SSTEES.

FaaTn

ays to normalize your

What is introspect:oa? Explain 1t
NSEST LY Qﬁ.ﬁw.&lﬁ.“ SFazs
Describe the grea i of fmendship.
5.1 Beer U Th

onww._ ;
Explain the need afindividual peace.
safvafs acos lalaeas. Jesss
Wnite the mﬁnﬁs.ﬂmﬂm fold culture.
B30sT@ES. WL & 10 2
TPES S

S.No. 2024
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S.No. 1412 17UAF01/17UCMO01/
17U0CC01/17UCBO01

(For the candidates admitted from 2017-2018 Batch)

B.Com./B.Com. (CA) DEGREE EXAMINATION,
NOVEMBER 2018.

First Semester
PRINCIPLES OF ACCOUNTANCY

(Common for B.Com. (A & F), B.Com (B & I))
Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.

1.  Define Accounting.
&ggﬁge UMTWMIES.

2.  Give Journal entries for the following
transactions :

(a) Purchased machinery for Rs. 22,000 pay
cash of Rs. 15,000 and the balance on
account.

(b) Earned commission in cash Rs. 900.
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\Sleeu(mid BL GG EDEEEEHS S GHUCUL ()
udeysars HHs.

() @updyd curmdlugy em. 22,000, @iflev em. 15,000
Qoréswrs QegssuulLg. Bsb 2 eter Qgrans
seale) meuESILILL §).

(&) @rréswrs Qupp sifley . 900.

3. What is meant by closing entries?

Bod ufeisar LpD idleug cramar?

4, Ascertain cost of goods sold from the following data :

Opening Stock Rs. 8,500; Purchases Rs. 30,700:
Direct expenses Rs. 4,800; Indirect Expenses
Rs. 5,200, Closing stock Rs. 9,000.

Gemeumd edlurnisafiedmbs;
SL&sellaned STaEs.

dlpuenanaCann

Asrss s7aémuy . 8,500; Qsrerapge . 30,700;
Crry deaddlamiasar a. 4,800; wennyps Gsewel amiser
m. 5.200; @mé sradmiy ep. 9,000.

What is meant by legacy?

n

e 8a dsner uph sfleugy cranan?

6.  Calculate what amount will be posted to income
and expenditure account for the year ended

31% December 2016.
Rs. Rs.
Stock of stationery on Stock of stationery on
01.01.2016 3,000 31.12.2016 500

Creditors for
stallonery on
01012016

Amount paid for
2.000 stationery duning 2016 10,800

2 S.No. 1412

2016 gewuf 3lb w@TGCLIB  (PgeuEnL LD
prensGlu eumeunl Cewellanr samsdlad ereucuanay
@sTena LIHDLLHL TATUMS G EE (HS.

- @
01.01.2016 Sierepmuw 3112 2016 semamw
(&Gl un(meT G mUy 3,000 erpg@unmer G muy 500
01.01.2016 syemenmws 2016 b ZeMTIq 60 ET(PSGY

a@aAuIma sLaECamt 2,000 QunEsssts Qsgupdug 10,800
7.  What is Bank Reconciliation Statement?
cudl #MEL_(HD UL I1gUIc ETETMTE 6Teren”?
8. What is meant by recoupment of short working?
@ 2 Husd By und Sidleug cremean?

9. A machinery costing Rs. 4,800 could realize
Rs. 800 at the‘end of 10 years. Find out the rate of
depreciation under written down value method.

m. 4800 s ssdimacymwu gm Quisiisos
10 sam(safian opyeler m. 800 alpslubEng
Gonbs Gso wHoy eplher &p Cslwmer
igsnss snaws.

10. What is Sinking fund method?
sfey Bpan aapre aenan?

3 . S.No. 1412
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11. (a)
(b)
12. (a)

Opening Stock
Purchases

Sales

Closing stock
Returns outwards

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

Mention the differences between Financial
Accounting and Book-keeping.

Bl blenev HOTEHS W6 LHmID &ETE (S,
ameuLiLs@hasdlen_Gui 2 eter GaumuimL el s mis.
Or

What are the advantages of accounting?
&1 SN LISOIGHT HETENLDSET WITEneu?

From the following information ascertain

gross profit and net profit :
Rs. Rs.
2,400 Carriage inwards 524
15,205 Manufacturing wages paid 2,800
20,860 Manufacturing wages owing 96
3,840 Loss due to fire 1,000
185 Indirect expenses 200

Returns inwards 860

Qsm_ssssrsflmuy 2,40

Gereumd edeumasailali(phg CLTss Gamuw
wHmib H&7 @eTusms sanssl (Hs.

(- (-
2 GTEN& @ Fn el 52

Qanarapge 15,205 2 pusd sacd Gagsuig 2,800
el puanen 20,860 2 pusS snell Gegussiu Cauamquwig 96
G md srsSmuy 3,840 Sulamre) gHu L mLLID 1,000
Qeuafi@muud 185 wenpps Qrwelamigar 200
PQ«%@,DEB 860

Or
4 S.No. 1412

(b) The following are the account balance of
Vimal Agency after preparing Trading and
Profit and Loss a/c for the year ending

315t December 2014.

Rs. Rs.

Land and Building 1,50,000 Furniture 1,00,000
Closing stock 60,000 Bills payable 40,000
Cash in hand 75,000 Sundry Creditors 50,000
Cash at bank 50,000 Capital 4,00,000
Sundry Debtors 30,000 Net profit of the year 25,000

Bills Receivable

]

50,000

Prepare Balance sheet of Vimal Agency.
Gemeupd eleugiiger gabur 31, 2014 <id
S}, ETIg.60 GAlWITLTy LHMID @MU HLL & SMTENE

sumigs 9n @ ewe g@gmereis@Dlug.

(- W ,

How wpmb sy 1,50,000 siwpsaar 1,00,000
@Qmd sradmliy 60,000 Qeguszn@Efw

wrHMESFH 40,000
asullmUy Cr&Eswn 75,000 upue

sLabCsNT&eT 50,000
auiifllimuy Qrrésd 50,000 qps® 4,00,000
upue sLeraflser 30,000 eueunammenL
QumsnEhw Flay @emuid 25,000
wrHmES O 50,000

e gQmerediuier Gmuybleaas Ghluenu
swrflés.

5 S.No. 1412
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1.3,

(a)

From the following information, ::_.n:_..:c
the amount of subscription to be n...;_:.c; to
the Income and kxpenditure account for the
vear 2016, Dec 31 Amount of subscription
received during the year Rs. 17,5600.

Subscription outstanding on December

31,2015 Rs. 700

Subscription outstanding on December

31,2016 Rs. 800.

Subscription Received in advance on

December 31, 2015 Rs. 450.

Subscription Received in advance on

December 31, 2016 Rs. 290.
ganur 31, 2016 b BETCLI® (Piga L

apauns  Qsuddas sansdlo @b Gup
Ceuarrgw  ghsm  Ggmaseaow L9 6s16u (HLD
gacusalall(hhg saadl(Hs.

Sjeuaunarig @ Qubp shsT Qgnans ep. 17,500.
geour 31, 2015 ey Hemedgierer &HST
e6. 700. .

webuT 31, 2016 sety Hai@endgierar &b
em- 800.

g&nur 31, 2015 wianmy (e sal iy QupD FHST
em. 450.

&b 31, 2016 yemmy (per gy QuOD HST
e. 290.

Or
6 S.No. 1412

(b) Information are given below :
Particulars Dr. Cr.
(Rs.) (Rs.)
Prize distribution fund ~ 15,000
Prize distribution fund investment 15,000 -
Interest received on such investment = 600
Prize distributed 300 -

14.

How will you show the amount in the final
accounts of a non-trading concern?

gaeucsarmaig SC anhssu(Herener

Sleuymiser uHm eune
(e-) (e )
ufle udlipgeaily B4 - 15,000
ufle vdlipselliy B wses® 15,000 -
pseSLgan Bgrer Gupm eu g - 600
ufle udlibsalssg 300 -

(a)

auenfla Crrsswpm Hiwsser @mé saradla
@s0graswnang,

eraueng &ML (h&?

g srerrisslu(pin

The Bank Overdraft of Mr. Sudhakar on
31-12-2008 as per Cash Book 1s Rs. 4,500.
From the following particulars, prepare bank
reconciliation statement :

(1) devwmmmbﬁwm cheques Rs. 1,500.

(il Uncleared cheques Rs. 850.

7 S.No. 1412
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1 1

(i) Bank interest debited in the pass book | (b) Coal Ltd. Leased land from Senthil Kumar
only Rs. 250. | at a Royalty of 25 paise per ton of coal
(iv)= Bills collected and credited in the pass | : raised. Minimum rent was Rs. 24,000 p.a.
book only Rs. 400. : Short workings are to be recouped during
\« . . _ the first four ears. The coal raised in the first
(v) ~ Cheque of Ashok dishonoured Rs. 250. | four years was as under :
?@Q Cheque issued to Sagar entered in the | Year Tons Year Tons
! 2004 80,000 2006 (Strike for 3 months) 60,000

mn of the cash book Rs. 150.
1,20,000

cash colu
2005 90,000 2007

3112.2008 e S (. &STHT cramueuiflen Qyrés .
gligen ulg G auengupm . 4,500. Qémeu(Hid ﬁ%wm was a ﬁ.u.o.immoc for @m.ocoﬂﬁobmﬁmw
Aunisened mi i efal @b Uligue reduction 1n minimum rent 1n case O

Er_:w%m Gne! o HLEneD stoppage of working by strike, lockout,
? . accident etc. Show the Royalties and Short
workings accounts.

Aassil Apb g© G508 Hosms L G

(i) ewTlsEsLULTS srGameneuaar . 1,500.

(i) euGHOTETS srCananesar ¢m. 850. ;

. . o . 05 eouET eSsh 2 aratens lEbHld @i LO(BHS)

(i) amd QeaGornd woOO W8 EEsmesE aridlug. @0 SIS GPDHS
ms@mw_mmEE_I@Q% aurudl cul g eh. 250. E SioTay  GUTLGDS (. 24,000 @D GO

o pUSH@W (PSD BT syar@saie BB

(iv) e QeaGa g6 wL_ (D |
aEETEEILLE e @assIULL | Qanérer CaRm@n. PHe® BrENG pemdsate
o aimig wie e 400. i gw Blevssl lemelmuomm.
o o ~, @D Lamsar (D) LRI & 6T
) %MM:%%Q snGenana SeundssluLg | 2004 80,000 2006 (3 wrgiser Goueoe Hmpsn) 60,000
(. <L, ! 2005 90,000 2007 1,20,000
(v1) m:mﬁm@ Q@@mm snGamene ®q_.§9.@_....5.% CaumaBnsshd, sgeuemL iy, 1uss) < ey
aMmmM usduldler  udley Qa8 | FHULL T GMDHS N oY QUTLEN&E L
- : ! © dgseTy  SigliuenLufe GoDs56 Canerar
o m pigub. 2 Ménog Cemena LHMID GOD o HUSESE 2
I | STENE HTL_(H . & Bl
| S sSs v T
8 S.No. 1412 ! 9 Lacr.rru%m.\zo. 1412
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(1)

N

{ )

A machine was purchased on 1"t danuary
o014 at a cost of Rs. 19,000 and Rs. 1,000
on its installation.  The

Wit spent

depreciation is written ofl at 10% on tho

oviginal  cost. method every  year, The
machine  was  sold  tor Rs, 10,000 on
S0M September 2016, Show the Machinery

account for the two yenrs,

goeoraitl 1, 2014 copannl ¢y 19,000 can achatilena
1,000

il

(e gpan Gl MAIRARIN

AR REN A RN

Il g Claumnien g

e ettt oo daailanam apaeiputlar 10N

G nniieatgl gpatbaiui g Gaen thar 30,

2019 Wl inmeang Q. 10,000

clatiy

T AR R AEN R AR G JIALT

Al )

Aeant oy et e
v

O

N LAd acquired o lease for five years for a
aum ol R 20,000 on 01020100 1
proposed (o depreciate it under the anmnty

-
-

method altor charging mterest at 6% pan
Reforonce (o the annuity table indieated that
0.203007h at H% p.a. s required toownite olt

L

Reo Toan fve yoars, Show the lease account

(or hive yooars, o &
v

' v

1) oo

01.01.2010 e N Bl 5 e
g, £0,000

whlcntlanar g

N W .
PG DT QL L

Quitinrehlng) . ooy (n

&

Wlpe @G Qananas apavpuild Cadio

(3

pantdhan apg e Qe e g H% an

Qn I e

.

Quint ”,... m_.__m,

g 0.230075

O Quenadarutlaat

SAERT (D, e Ih R (N IR (R
by

CNITO\ES

SECTION O @ N 10 5 80 marks)

Answoer any THRELR questions,

16, nter the followmg  transaction e the propey

subsidiney books of M7 Avan,

=01

May 1 Bought goods from Ravthick R

N

i)

1. 600

Sold poods to Murugan Rs 1400

6 SNentinl sold goods o us R OO, trade
discount 1%

1 Sold —,7::—.; o 7:.::..:: Re 1200

18 Purchased goods from handan Rs 2000

19 Received goods roturned by Murugan R 1100
o0 Returned goods to Sential worth R iy
30 Goods returned by Kumavan Re 120

11 S.No. 1412
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SRS BIEIRTIN

&meumani <SY(IHRT i
PLQIG E@ssar Gy Qeatld WAL
2015

Cu 1 amrgdAeWmig QUDD SIS . 1,500
2 sQuES Aom s785S m. 1,400

\ﬂ,
( Ot

m‘.mb,d ?Eﬁ & Slbm 78 (. 1,000, %E:E:a

J

i

SST@HUY. 10%
I swranée Qodm s76G m. 1.2
18 spsalle O mra Qubn §7&S M. w,ooo
19 w@saledlmpa dmwu Quin 576G 5. 1,400
20 @m.b m@@ 90 Quprar §76@ SmUulwg
30 &

Gurame mullu 75 . 120

The following Trail Balance has been taken from
the books of Mr. Raman as on 315t December 2008.
You are required to prepare the final accounts on
315 December 2008.

Debit balance Rs. Credit balance Rs.
Drawings 4,800 Capital 50,000
Stock on 1.1.2005 30,000 Sundry creditors 10,000
Furniture & Fittings 13,000 Bank loans 6% 20,000
Printing & Stationery 12,000 Discount 400

v received
Coal, Gas and water 600 Sales 2,35,350
Freight 3,500 Bad debts
reserve

Purchases 75,000 (1.1.2005) 600
Income-Tax 9.500 Bills payable 6,500
Discount allowed 950
Repairs to plant 1,000
Factory rent 2,500
Salaries 2,800

12 S.No. 1412

e —

e —

Debit balance Rs. Credit balance Rs.
Manufacturing wages 24,000
Advertising 8,200
Plant & Machinery 70,000
Office rent 3,600
Miscellaneous
Expenses 1,000
Bills receivable 12,500
Carriage 1,500
Insurance 600
Interest 1,000
Cash at bank 7,500
Cash in hand 3,500
Sundry debtors 33,800
3,22,850 3,22,850
Adjustments :
(a) Closing stock amounted to Rs. 40,000.
(b) Depreciation Plant and Machinery at 10%
and Furniture and Fittings at 5%
(¢) Reserve for Bad Debts to be raised to 5% and
Discounts on Creditors to 2%.
(d) Prepaid insurance Rs. 300
(e) Factory rent prepaid Rs. 200.
()  An outstanding bill for repairs amounting to

Rs. 300 remains to be paid.
13 S.No. 1412
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[

(leatangmin ()

Moy, @l

(U T

) n_?._:.

R TR RS SIS R ATRITIL (e,
.

L .,...::;..: _.._....:

1127005 copanranmu
apadlinii

COE DT DD D
Glogng, mpda,dar

SO & DDHDID

Srap iy
Hlevd ol Quru g wmhmid
gy ednn el

RN

Qaadiapsen
QUHLOTET Qi)
SATEHLIG sallg s gy
CumBuen
uEpGILITITULY
SNV QUNL_EDS
FLOLIATD

2 Husd sgac
edlanbumb

Qun) wHmw
Fupdlon
SPIUDS UL ens
unue Gevellaiissar
Qumsn@Mw
wrHmESLH

Qeuallgns@ sadd

an.

Lobin) a3l

STyl

1,800 :_.‘_....(.:

13,000

12,000

600
3,500
75,000
9,500

“.n,::: G|

GBI LG,

A1 12,0008 @ apg @uantt 1 deat copetor (e @l Gl

Qe @en o .
50,000

LI

30,000 g i Ca o 10,000
6% antud) s 20,000
san@pug Gumhma, 400
eNlmLien cor 2.35,350
QUIT &L (&) (T,
(1.1.2005) 600
Qesan@iw
wnHmEs ) 6,500

950

1,000
2,500
2,800
24,000
8,200

70,000
3,600
1,000

12,500
1,500

14

S.No. 1412

LDy )i e

ama0)

r_:_.,_;

el aning Glymamin
enauN Uy Glynami

LIfDLIGU cotndlamen

o
GO0
1,000
500
3,500
33,800
3,22 850

RS Rt Rt

aflo(Hachac

(«21)
(<)

@bl
DGO DTGV GOl

LOMHMILD

Gaananh ba.@s.
(@) cuyndsL o Qo6 5% 6@ odlafldaen SIDEYILD
N . i .
sLaibCaHmT By Her@hLen 2% o_(ImGuId, 88
(r)  apengai_ly Qogugdu snudi@ . 300.

OMHmID

Cule] @i ol m,

3,22,850

i) ayadlaniin ey, 40,000,
@_:._E_h:‘:.: _m@_ 10%

:..SG_:.

Qa6 oen oy 5%

m. 200  qpomsni_iy

upg ULl GeEns GariuL Gouemmig.u) 2 6ol g LICD

. 300 @engyid AemRLILTOED 2-ararg).

(2) @  QUITLGNESHETS,
Qegsg UL Lg|.
(2ar)
18.  The

following particulars related to Beeman

sports club for the year ended 31.12.2014.

Receipts
To Balance b/d

To Subscriptions :

Arrears
Current

Advance

Rs. Payments Rs.
600 By Salaries 1,245
By Stationery 240
24 By Rates and taxes 360
1,266 By Telephone 60
48 1,338 By Investments 750
15 S.No. 1412
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Receipts Rs. Payments Rs.

To Profit from By Advertisements 105

canteen 900

To Miscellaneous 45 By Postage 100

To sale of old By Sundries 350

news papers 112

To Dividends 485 By Balance c¢/d 270
3,480 3,480

You are required to prepare an Income and
Expenditure account and Balance sheet after
taking the following adjustments :

(a)

(b)
(c)

Wlestau(mid
e&mCLm®  plgeueLud

There are 450 members each paving an
annual subscription of Rs. 3; Rs. 27 being in
arrears for 2013 at the beginnmg of this
year.

Stock of stationery on 31t December 2013
was Rs. 30; On 31st December 2014 Rs. 54.

Cost of buildings is Rs. 6,000. Depreciate at
the rate of 5%.
eSlugrigeTTens) 31.12.2014-410

Swer  elevarwnl ()

sp&58nEilwg).

Qumsaadr 5.
Amuy &/CQsn

EBSI

Blaianau 24
BLUL

pesiL

vy

Cegyssiswsar €.
1,245
s Qunamer 240

600 swuemb

1,266 QsrenaCuél 60
) 48 1,338 qpsd@psdr 750

16 S.No. 1412

eSsruadr whmw euflaer 360 .

Qumgdser m. Qequsgigasar 15
ey el (HHgy eNenbugri&ar 105
Qemuw 900
ubU& @9@99 45 sund Qsevay 100
uenpw Qe wdssnamar upU @) etisET 350
T ES) 112
LRISTSTWILD 485 @muy &/@ 270

3,480 3.480
Qemaumd  sfls’ (Dswsmar sansdle Gsnar( @b
QU(HeUMW Qeaveien &M EEN&W|LD W HMILD
@ouybleaas@dlienuub sunt Qews.
(=1) Cwrssid 450 2 muleriser 2 _Gemeu.

19

pauCeunmeumbd Ceasssomigus paT(h EHEM
eh. 3, 2013&smen spgm . 27 Geueumear(h

Qer_sasdled Hlayeneuwns @)(mbss!.

(=) 31 webur 2013 eaepw  erwgGurmafer

(@) slygLsdlen <iLé&s wHUY .

@muy e 30. 31 gewur 2014 emepw
erp&Glummer @@L ¢p. 54.

6,000. 5%
Caierd 2 (HeuTs&HEs.

Write short notes on :

(a) Royalty Account
(b) Minimum Rent

(c) Short workings.
fmy EHUY 5[ms ’

(=1) =flenws Qgrens
(=) GPDBEULE TG
(@) ®@p2pusdl

17 S.No. 1412
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On 1%t Jan. 2003 machinery was purchased for
Rs. 80,000. On 1%t Jan. 2004 additions were made
to the machinery of Rs. 40,000. On 31t March
2005, machinery purchased on 1% January 2004,
costing Rs. 12,000 was sold for Rs. 11,000, and on
30t June 2005, machinery purchased on
1st Jan. 2003 costing Rs. 32,000, was sold for
Rs. 26,700. On 1st Oct. 2005 additions were made
to the amount of Rs. 20,000. Depreciation was
provided at 10% p.a. on the Diminishing Balance
Method. Show the Machinery account for the
three years from 2003 to 2005 December 31s.

01.01.2003 ey em. 80,000 6@ @upbdon curmdlug).
01.01.2004 yenm sa(srs ¢p. 40,000 &@& Qupdlywd
aumiiflwg.  31.3.2005 ey  01.01.2004  siamm)
amflu Quidrsdd m. 12,000 iLés elmauerer
Pupdrses @. 11000 &g eopg. Cogib
30.06.2005 iemmy 01.01.2003 b cumadlu QuibSlrséle
e 32,000 siLsselmawdmer Qubdrsms . 26,700
& epmsg). 01.10.2005 ey sa(gens . 20,000 &@
Qupdrbd eurmglug. G@DhE Qger LY apulien
anhéE 10%  CGswwrand e (heursstubapg.
gebuf 31, 2003 apge 2005 euengulleren epem)
CUHLRISEREE B ubET sarésans sTL(H6.

b

18 S.No. 1412
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(a) Depreciation allowed as per

10,000

IT rules

. (b) General expenses include T 2,000 paid to
domestic servant

(¢) Car is used 50% for personal purpose.

SUTRR ST @enr bl &/ @-g FwuildsSpri. seurg

cuenfle umeuTenws sarTad(Hs.

€.
Cguiomend 14,000 Qurgg @emub
guneuafis Qeevayser 5,000 umsTETWLD
Qurgd Qeareysar 6,000 =irs Geemukiger
&WDLIGTID 90,000 S5 ety
QUITL_aN& 36,000

9|65 DEEEH 4,000

auf&Enar @HES 3,000

& PhHE Geaaser 7,000

Hlar Gemibd N.‘occ

7 1,67,000

A.wm: e HEEILLL @.@.ES:QB au.aufl sl g

em. 10,000

.
1,50,000
15,000

2,000

1,67,000

(=) 5. 2,000 &SL@® Couamaw mEhHéE nw_ﬂmum@

Qung& Qeeller CammpgeTeTg)

(@) wéyhsl 50% Q&nhe LISTUTL 1 DESETETS).

12

S.No. 1708

-

S.No. 1708 08UCM13/08UCC13

(For the candidates admitted from 2008-2009 obi..mamv

B. OoB /B.Com. (C.A.) DEGREE EXAMINATION,
NOVEMBER 2018.

mﬁiﬂ Semester
INCOME TAX LAW AND PRACTICE —1

Time : Three hours Maximum : 75 marks

SECTION A — (10 X 2 = 20 marks)
Answer ALL the questions.

All questions carry equal marks.
1. . What is previous year? .
WPHESWI Q60T ([H ETEDTE) GTEOTEN ?
2.  Write the meaning of total income.

Qungs eumTaIGEler QUTHEaT eT(GIES.

3 ' Give any two examples of exempted incomes.
aufl elesE eflssiu(Harer QUFLOTETEIGET 6TCHEILD
@Qran® THEHEETD SMHE-

4. What are the residential status of a company?
o0 paasder Grufiow sEH Ws?
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=1

10.

11

How will you treat house rent allowance?

&S () euTLens Lig emws GTEUUIT) ERSWITETEUL?

What is gratuity?

uellsQsmenL erammmed creman?

Mention the meaning of composite rent.

&L an_esllear Qurmears GHUKGES.

What is fair rent?

ETSTTENT QUTL NS TTMTE) GTETET?

Give the types of blocks of assets.

Qersgissaflsar Asme iy umssmens ma. |

Mention any two inadmissible expenses.
SigiwgssiiuLng Qeoeysaila gGasgud @rareLs
EMulb@s.

SECTION B — (5 x 5 = 25 marks)
Answer ALL questions.

All questions carry equal marks.

(a) How does gross total income calculated?

NG QU(HLOTATSENS ereueum)
SETESILMD?

Or
2 S.No. 1708

12.

)

(a)

Write short notes on :

(1)

@)

(iii)
@
(i1)
(iii)

@

(1)

(1)

(i)

Assessee
Previous year
Assessment year.

eulfl QFSSIBT
PHOFL e[
auflefliiy par® — Slp GHIUY 985,

ABC Ltd. was incorporated in India on
1st July 2000. The company now has
operations at UK.

Mr. Prakash stayed in India for 200
days during the relevant previous year.
He has returned to India from Dubai

after 10 years.

Determine the residential status of the
above assesses.

2000 grave 1 ey ABC  fimww
@pdurede Hoeutiultg. BHmILD
snQumupg UK-allé Qeawcou@®&nsg

WHms e Sm. Wraney GBS wmedle

200 TS SIS, S{6UIT
USSTET(H&ER&@GL eernt gumuiled(mba)
@ndwur Smbyererm.

CuGew odter  eufl Qeqsgprsafler
Ggwfleno sEHaw Siwrelss.

Or

3 S.No. 1708
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(b)

Pratab earns the following incomes during
the previous year.
4

1) Income from hardware business at

Chennai 1,00,000
(1) Rent received from house property at

America 70,000
(1) Profits from business at China

(controlled from India) 80,000
1v) Income from China Development

Bonds (1/4t® received in Delhi) 40,000
(v) Past years untaxed foreign income

brought into India 10,000

Compute his total income if he i1s a Not
Ordinarily Resident.

whesu ergd Grsma Qupp
Slemaumuommy :

9@9::.._

L
(1) GCesmeals aeQurma aalisn
QUBLTEND
@ oQuissrela @@mss Quim SR

aum_as

1,00,000

70,000

() Semela o erer avaflan goad
aerew (@ssurde Qmbsy
s QuuBssuuls g)

(v) & asEd LESTe apad QIHWLTEND
(1/4 @38urele Quopg)

(v) mr.uw & Basia Qupp aifl@ng
nﬂmmwt LBLIED PEESU @)
E35urasgs Carar Baiiul gy 10,000

ST Esmer Guuyfew o drataul erald®

Saurg dunss UBLTaIEDsS SamEd (Hs.

4 S.No. 1708

,80,000

40,000

-q-——-c?,.. =

13.

(a)

(b)

]

Explain the types of provident funds.
Gewpe Hfuder suamasemer eleurfl.

Or

Selvam retired on 31st December 2018. He
received a gratuity of T 4,50,000. At the time
of retirement his basic salary was ¥ 20,000
p.m and dearness allowance was T 12,000
p.m (enters into retirement benefits). He
retired after 30 years and 7 months of
service. Compute his taxable gratuity if he is
covered by payment of Gratuity Act.

Qaeeutb 2018 g&bui 31 Semm @uie|’ Quppm.
uesfls@srenLwirs . 4,50,000-g Quopni.
guey Quob QuTIPs TS LIS FDLETD €.
20,000 wpmb sefeaiiuyg . 12,000 (guey
LweEErEsTs) 30 erHiseT LHMD 7 WIS
vefllsal Gear @ue) Quopmt. ueflsQsteanLé&
sl gfean & Saun apsted Seurs wlssg
o U Ul L ueflaQsrenL_enws saad(Hs.

State the conditions under Rule 4A for
deducting unrealised rent.

QupuuLrs am _ssawus sfss 18 4A-uSer
& aud Hlupsamaismer THSSHIDTES.

Or
5 S.No. 1708
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15.

(b) Find the income from house property from
the following :

Annual rent T 1,44,000
Municipal tax % 14,000
Municipal value % 1,40,000
Vacancy period 1 month

Interest on loan taken for construction
¥ 12,000

dereumeuaraupidler @mbs O e s

U(HL TSNS &ITERTS.

per(h eurL_ens ¢m. 1,44,000

warm_& eufl e5. 14,000

BasyTL8 wHiuy . 1,40,000

sTdlwng @) mHEs &rewd 1 rsid

&S s eumiudlw sLar 5g) ul iy em. 12,000.

(a) Anbu gives the following data regarding his
income from business.

Net profit after including the following % 40,000

Car purchased for business % 1,60,000
Income tax paid 7 20,000
Dividend from a company Z 30,000
Interest from bank deposits 7 15,000
Compute his business income.
6 S.No. 1708

sy

ey deumd  sreseer  sar  eefls
QU(BLOMATLONS &(H& M.

Hay @arub Aereumeuarcupenn Gsigs e 5. 40,000

wAPHE g m. 1,60,000
augpLoner eufl egisswig . 20,000
flyeuer ukisTgTWD QUDDZ) a. 30,000
euidl eneuIL&eT eLpevLd eul_ig. . 15,000

26U euewfls umLIaIS®ss saésd (Hs

Or

(b) List the intangible assets as per Income Tax
Act and also mention their rate of
depreciation.

aumwrer euflé gLty Qs (ey opruns
Qsnggisaamer ULl () g Csuioner
eldlgrmisanerub GHLIAHS.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.
All questions carry equal marks.

Describe the following concepts :
(a) Financial year
(b) Taxable income

(¢) Casual income.

7 S.No. 1708
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(=) aflée el ul L aumwrend

(@) sHQswerear aumLTETID.

Mrs. Sumitha furnishes the following details of

her income during the previous year.

(a) Profits from business in Cochin received in
Indonesia

¥ 50,000

(b) Dividend from Indian company Z 10,000
(¢) Income from business in Australia received

there (controlled from India) T 20,000
(d) Rent received from Burma % 15,000
(e) Profits from business in Canada (not

controlled from India) (3/4t* received in T 64,000

India)
() Past untaxed foreign income brought to

India T 10,000

Compute her total income if she is

(i) An ordinarily resident

(i) Not ordinarily resident

(i11) Z.ow-ummamnn.
PHenGW &935.9 GemeuHd eu(pLOTET edleurmigemerT
Hmwd. sllsT AgeflejuB sz S,

(o) Qsnsflaficr 2 erer cuenfla @emub

®BCsmCaredumele QubD . 50,000
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(@) @pHuPpuasds ukstsnun Qupps . 10,000
() <dCrdlureds Qmbg aenfs QU(Heui
<SmCGasCw Qupmg ( @.@%E:&E Bmhs
sL_(Huur®) . 20,000
() ufomeiled Q(HHS T g m. 15,000
(2) senneiled 2 drer awafls Qarun(s Gur®
Qoow) (3/4 une @bHunde Quing) . 64,000
(2ar) &LBS uflGLE W aumonemnd Qsnarr(
T euglulLg) . 10,000

SIS QE:M.@ QUBLOTRTSENS B|GUIT
(1) smsTyewr @5.:._38.5 Quimeur
(i1) %_mq@:qa Gigwfenw Quibmeurt
(1) @yyflew .Quprseur <& EmUder

sEH[HS.

Adam gets the following emoluments from his
employer.

T (p.a)
4,50,000
2,25,000
Tiffin allowance 12,000
Children Hostel allowance m.ooo (for 2 children)
12,000

Basic salary

Dearness allowance

Medical allowance
9 S.No. 1708
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19.

He has been vuoimm,m a rent free furnished

accomodation at Madurai (population 18 lakhs).

The cost of furniture was ¥ 1,50,000. The
employer provided a cook and watchman at % 500
p-m each. His electricity bill was reimbursed by

the company ¥ 9,600 p.a. Compute his salary
income.

SR TT S =) SN (oY1= o [T [

sardlwinigenaT Gumdmm.

Qmbgs  Gereumd

. (QunaniyHE)

Siig LU L FDLIETLD 4,50,000

Sig6llenavLiLig. 2,25,000

Spmyerig Ly 12,000

@pbeogsar oS Ly 6,000 (2 gpi@ssEnse@)
O(HSSHI6ULI Lilg 4 12,000

SADPEO@IL T Falgll T ensuldeer g uimliany
wgeorie (bés Qgrens 18 @lswb) IuBES
Sefssiul_Herers). epsean wdly . 1,50,000
SGD. FOOWDSMT @IHEU(HLD STEUTET  GHEU(HLD
gor wrgb . 500 el QerH&sLul L. Seurg
e sl Leawrd Hpeuangsre Hnull seflssiulLg
5. 9,600. =i6uyg FOLIGT QU(HLOTETS®SE SMTEE (NS

Farook is the owner of a big house which has three
identical portions. He occupies one and let the
other two portions at monthly rent of T 15,000
each. The fair value and municipal value of the
house were T 2,70,000 p.a and % 2,73,000

10 S.No. 1708

20.

To Depreciation
To Diwali expenses
To General expenses

o

respectively. He took loan to construct the house
and interest on loan amounted to ¥ 12,000 p.a.
The portions were let out throughout year.
Compute his income from house property.
Municipal tax paid 10% on municipal value.

ey  UGHsd  Ceme  @m QuAlu S iger
o fewwrart LuTEHE DUl @ LGSWw Frer megg)s
Garam® wHp QG UGHS@aTYL WLIF T ms
15,000-6@ eMLmi. Seueiigan sngmyemr iy
pod BeErTL gl wHiy wepGw ;. 2,70,000 wHmb
. 2,73,000 @@, 2bs Ilm s sl (Heuspe sLan
euruflemi. sLer Bg euly e 12,000 (Sya@mens)
PG, UUGEHSET QUHLLD WP(PEUFGID CUTLDESES
el LUl g (mHBe. SIS G auUTLan&
umLTaTSmEs sansdlhs. BaITLS wHufad 10%
B&yT_& eurfl oy,@W. :

Supraja submits her profit and loss a/c for the
previous year. Compute her business income.

Rs. Rs.
14,000 By Gross profit 1,50,000
5,000 By Dividend +15,000
6,000 By Interest on

To Salary 90,000 Govt. securities 2,000
To Rent 36,000
To Furniture 4,000
To Provision for tax 3,000
To Car expenses 7,000
To Net profit 2,000
1,67,000 1,67,000
11 S.No. 1708
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(=4) efwrumgp
@)  gewd %E:E:qm%%@m@_ aumrend 30,000
(i) @muy wrunysded(mbHg pLib 60,000
(1) oas %.E:E:qm%%@m@ BLLLD 10,000
(@) eI N6 (w1
@®)  eomiLMbemhs eumored . 25,000
(i) upsw GH@rsERESTa
ugmofliy sl 7,000
(i) Genamruiisenemba) et i 10,000
() Qg Fbuembd : 1,66,000

How is tax liability noEﬁcnom of a @wwﬁ:mwmgﬁ

firm?

@M Fal_Lramentn Hlmieueargger QBDQEF@DL GTeuGUmm)
sa&SLLLIHHDE?

What is meant by Reassessment? Discuss its
provisions.

LRLAISH TEMTH TETE? DG CPTHIISHEEMET

elaurdlés.
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(For the candidates admitted from 2008-2009 obﬁmamv

w Com./B.Com. (CA) DEGREE EXAMINATION,
APRIL/MAY 2015.

Sixth Semester
INCOME TAX LAW AND PRACTICE — 11
Time : Three hours Maximum : 75 marks

_ ' .
PART A — (10 x 2 = 20 marks)

‘Answer kPszmcmmﬂobm 3

1. Define Capital Asset.

ppugar QETsg euanywm).
2.  What is meant by Long Term Capital Gain?
BRTLSME AOOSET LSTUILD GTETHTE) GTEE?

3.  Specify any four examples of Income from other
sources.

Q7 gemellenr & 5 6TeT GuHLTETRIGENE QQ@@_E
BITENES 2 ST RIIE SEnaT GMLGHs.
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